FIEEFEY 1-FAL N Ar- MR PEERE

FR24FE18148 (1)
FHEMESLAREERA— 2 2—
1. 65EFHF500m
B K& B (B4)) 24 6% 2
1/ E= NEE= 6 0:43.29 CR
2 HEA NEE= 6 0:44.28
3 Btk 1hEH 5H 6 0:45.18
4 A 2th =R 6 0:46.06
5 %M BN e 6 0:46.67
6 B KH EMEY77 (@) 6 0:46.93
7 ¥H #X M-Wave(BBF) 6 0:47.07
8 B2 & NMEE— 6 0:47.29
9 KR B NEE= 6 0:47.48
Rl #5F =Pl 6 0:47.48
1180 E4£ £\ 6 0:48.03
125 EX ==BY.N 6 0:48.35
13 &R 8 I 6 0:48.68
14 5RZE XFd Bt 6 0:48.78
15 =% #l7 APYELR) 6 0:48.83
16 Bk Fz A 6 0:48.87
7 &R "ﬁjtﬂﬂ AR 6 0:48.96
18 INth SR EHY77 (FAEH) 6 0:49.10
19 % EB4E BHIRPER 6 0:49.71
20 B B 5H 6 0:50.48
21 A = [R 6 0:50.50
22 ZHR & 2F 6 0:50.57
23 ¥1H 8 EH 6 0:50.64
24 HH &R NEE— 6 0:50.67
5 &8 & b4 6 0:50.78
26 AT B/ 5H 6 0:50.85
27 ZAR B =2F 6 0:51.07
28 ik BE M-Wave(#k4 ) 6 0:51.11
29 BRiE R = 6 0:51.13
0 K H#E BHIRAEER 6 0:51.93
31 #5K #Eth HO 6 0:52.50
32 AO fi K NMEE= 6 0:54.33
33 #iE Kith N 6 0:54.43
34 BHH =2t NEE— 6 0:54.46
BJBIEAKR FEf  BHIRGDE 6 0:55.17
36 PFE B BHIRPER 6 0:59.02
37 ik A N 6 0:59.38
38 BiE R M-Wave(Z % E) 6 1:01.68
39 #EH BEX B HIRPER 6 1:02.24
40 KH Am priile] 6 1:02.43
M =EH RE BRE 6 1:36.03
INFR K ith BHIRPER 6 DNS
=iE B RE 6 DNS



2. 6 ZF500m

JEE K & B (B4)) 24 6% 2
1 K BK ilea] 6 0:46.92
2 lLigs £ M-Wave(#8EH) 6 0:47.02
3 LtiF BEH 5H 6 0:47.15
48k EFE EiR 6 0:47.83
5 Ak EE A 6 0:48.06
6 /ML REZ wAL 6 0:48.09
7 IMNE R &R 6 0:48.22

8 & BRE wAL 6 0:48.26
9 =H# KRB HA 6 0:48.51
10 Hh & 2F 6 0:48.65
1MET #& b4k 6 0:49.13
12 BElR =K M-Wave(Z X E) 6 0:49.56
13 8@ #HhE FHE 6 0:49.77
14 RE & EAT 6 0:50.05

WRZE E M-Wave(&y BB) 6 0:50.05
16 B8 WE NEE— 6 0:50.26
17 2 RZE & [Fags el 6 0:50.31
18 RE /N RE 6 0:50.43
19 75 BE A 6 0:51.67
20 ¥ EFF EHY77 (FAEH) 6 0:51.91
21 558 HULVF Nl 6 0:55.94
22 INE EfR 7k BR 6 0:56.39
23 +tH EHR TiREAm 6 0:56.64
24 iE B £H 6 1:03.89

HH FE [ ele 6 DNS



3. 5EBF500m

JEE K & B (B4)) 24 6% B =
184 EC [ 5 0:45.71 CR
2 Rk & NEE= 5 0:45.72 CR
3/t FE &R 5 0:47.45

4 ER FHh a5 5 0:48.12
5 Fik PIE M-Wave(T 5k £f) 5 0:48.17
6 ER i b4k 5 0:49.43
I a5 5 0:49.43
8 #9|13F 'HE ‘g 5 0:49.53
9 HmF B—E JIEE= 5 0:49.65
10 /pMU K HAE 5 0:49.68
11 85k M E 5 0:50.29
12 R EXER NI EE— 5 0:50.46
13 K FEIR EHY77 FIR) 5 0:50.48
14 5H BB &R 5 0:50.69
15 5K B4X% 7K BH 5 0:51.50
16 K9 RE§ BRE 5 0:52.13
17 HAO % NEE= 5 0:52.74
18 EIR BA b4 5 0:52.99
19 RHF #E s 5 0:53.11
20 Ak Eth EiR 5 0:53.40
21 Big K& iR 5 0:53.51
22 BT 88 RE A AL"—N (38 ER) 5 0:53.75
23 FJR KA [ 5 0:54.15
24 R 1ha# NEE= 5 0:54.31
25 TRk fEE oM 5 0:54.35
26 =R FEiE 7k BR 5 0:54.50
271 X B= A0 5 0:54.99
28 &R # A0 5 0:55.99
29 HrH BEAT A0 5 0:56.48
30 {FiE A N 5 0:56.90
31 M #5th k&l 5 0:57.08
32 ;A FED M-Wave(§%k4 ) 5 0:58.09
B SR EF 7k BR 5 0:59.39
34 Kl X = )| 5 1:03.41
35 /Il w3t BRE 5 1:06.76
36 =ik A& [R 5 1:07.62
371 =H R4 RE 5 1:07.81
B EK Fig AR 5 1:10.78
39 MR BEX RE 5 1:11.67
A BER RAAL—N(Eih) 5 DNS



4. 5ELZF500m

JEE K & B (B5) & 6% 1
1/hU FA M-Wave(th ) 5 0:49.40
2 WA FoN B 5 0:49.98
3E+E AE At 5 0:50.68
4 Bk =TE AEPYELR) 5 0:50.69
5 Rig £H 5 0:51.79
6 & KB ZH 5 0:51.82
795 BE R 5 0:51.83
8 #iK XATE 7k BR 5 0:51.98
9 K BF priilea] 5 0:52.01
10 KiFE B8 BHRAEER 5 0:52.07
11 BBk BEfRTE 7k BR 5 0:52.38
12 S48 E# M-Wave(3H,3R) 5 0:52.51
13 hfT B E 5 0:52.52
14 TERE B &AL - (&) 5 0:52.66
15t COH BHREI 5 0:52.83
16 REl BE fE A AL~ (#%8A) 5 0:53.27
17 BE2EHSE FH 5 0:53.81
18 &% #FIF b4 5 0:53.85
19 HE i NEE— 5 0:53.93
20 HE X EHY77 (FAEH) 5 0:54.96
21 IR K KEELR) 5 0:55.10
22 i TE =) 5 0:55.39
2 XE ¥ M-Wave(#E1E) 5 0:55.48
24 Fih HFxE A AE - (Eih) 5 0:55.58
25 5H B#F AR 5 0:55.64
26 B0 EHE AR 5 0:55.92
27 #AE X% R 5 0:56.89
28 MK IEH £iR 5 0:57.46
29 ¥ FEHE  EAH 5 0:57.48
30 dtiFE i NI 5 0:58.64
31 INE BT BRE 5 0:59.29
32 HH HE mEHdt 5 1:00.09
33 A ERIF ==p) 5 1:00.43
4 LB EH TEREAAE 5 1:01.10
B EHEHZx THE & 5 1:01.63
36 He #a A5ER 5 1:05.18
37 " 1871t prile] 5 1:05.39
38 = KL 7k ER 5 1:07.21



5. 44, B F500m

JEE K & B (B4)) 24 ik B =
121 = M-Wave(= A4 4 0:49.99
2 7 fiZ NEE= 4 0:51.01
3 HHE WS NEEZ 4 0:52.84
4 ARk AT 7k BA 4 0:52.86
5 % F ﬁ#ﬂzﬁ 4 0:52.88
6 KA 4 4 0:53.07
7% Rt ﬁ#ﬂz:ll: 4 0:53.24
8 INE (R NEE= 4 0:53.31
9 JIIE X#& b 4 0:53.79
10 i K £/| 4 0:53.96
1M %R #BX =H 4 0:54.01
SH &5 NEE— 4 0:55.52
13 JF/K K 5H 4 0:55.55
14 BH EA NEE— 4 0:57.80
15 #6K FIK 7k BR 4 0:58.09
16 53 H%ﬁc i) 4 0:58.98
17 5 %8 b4 4 0:59.15
18 &P WE 7k BR 4 0:59.40
19 hiE EH £H 4 0:59.49
20 /PR K i) 4 0:59.50
21 =g w3 kel 4 1:00.03
22 ¥ X N 4 1:00.23
23 ;BK K BHIRAEE 4 1:01.57
24 BH KEth JNEE— 4 1:01.98
25 INE BT R Al 4 1:02.67
26 5% B &= H 4 1:03.83
27 /MR OHEX 2| 4 1:07.17
28 ;&K M-Wave(FH) 4 1:08.63
29 B IXER b4k 4 1:08.98
30 Tt BE sl BRE 4 1:10.21
31 R¥ —# b 4 1:10.91
32 IUEH ®EE £H 4 1:12.13
FEE FNR mEHdt 4 DNS
Bl KR A F#,REP:.B 4 DNS
INK BE 4 DNS
g ek %ﬁb& 4 DNS
mA xTK el 4 DNS
=g BN NEEZ 4 DNS
wmHr BE4E B HIRPER 4 DNS



6. 44X F500m

JEE K & B (B4)) 24 6% 1
1A &N el 4 0:49.40 CR
2 BB IxF #H 4 0:52.45
LR £t AR 4 0:52.46
4 &iE BRE M-Wave(g5 B) 4 0:52.64
5 RA K =1 4 0:53.04
6 L& B EAH 4 0:53.17
7 IhE EE e 4 0:53.20
8 M X =P 4 0:53.58
9 K% E EAT 4 0:54.10

FE OEAF  EHIFT7FEIPE) 4 0:54.10
11 fr B 7k BH 4 0:54.26
12 B B# KHETHE 4 0:54.60
13 PZE BE  FH 4 0:54.85
14 5ZF X KETIE 4 0:55.00
15 &R b4 4 0:55.03
16 2R2ZE XB ®EKdt 4 0:56.13
17 #F K= TiREAm 4 0:56.62
18 BIR EH ==} 4 0:56.92
19 A £ BHIRAEE 4 0:57.49
20 R FYA ey 4 0:57.51
21 B = 5H 4 0:58.80
2 &F RKE M 4 0:59.41
23 BlIF HLY R 4 0:59.53
24 TEfE HAGE AAE—N(FER) 4 0:59.70
25 #H = L&l 4 1:00.07
26 FiE EEHE  /NE 4 1:01.64
27 @O & [R 4 1:02.56
28 Bk AL KHETIE 4 1:02.80
29 T EBE=E o) 4 1:02.87
30 5% =& B HIRAER 4 1:03.70
31 Bt B SH 4 1:03.96
32 X [5m s 4 1:10.81
BFEFO B ZBF 4 1:11.84
M Bk WK A 4 1:12.52
3B EMK MEF K 4 1:15.04
36 FA %N A5ER 4 1:15.13
37 Mk BE RE 4 1:19.35



7. 3FEBF500m

JEE K & R (B4)) 24 ik B =
1 &) —3E M-Wave({& ) 3 0:51.72
2=# X HAE 3 0:52.17
3 i K5 M-Wave(§8 2 H) 3 0:52.40
4 AR —RK EiR 3 0:53.36
5 HOA #& NEEZ 3 0:53.97
6 Hd E) 3 0:54.23
7% 3K A& AE=NUIE) 3 0:54.58
8 &ith K= [R 3 0:55.03
9 FH A [R 3 0:55.87
10 Ak HE E) 3 0:56.58
11 E2@ Hth BRE 3 0:57.24
12 #H K& &RE 3 0:58.03
13 &% #® FE A AL -1 (#8A) 3 0:58.20
14 {Fi& NEE= 3 0:58.31
15 Fik RE NEE= 3 0:58.92
16 & & b4 3 0:59.08
17 ¥ finkE A AE—=NUIE) 3 0:59.16
18 B8 #EA EH77(BE) 3 1:00.42
19 R #EA b4 3 1:01.30

20 fEHY EFX A9 3 1:02.25
Eik BEX iR 3 1:04.95

22 A & 2F 3 1:05.04

23 & £ RS AL—F (#88H) 3 1:05.20

24 KiE EH b 3 1:05.46

25 =ik K NEE= 3 1:08.71

26 WA &K I 3 1:10.55

27 ¥ £ 7k BH 3 1:10.61

28 AIE RR1A AE(ELR) 3 1:10.65

20 5 N NEEZ 3 1:10.97

30 #HE E = )| 3 1:11.24

NNEE ER b4k 3 1:12.30

32 hiFE BEA £H 3 1:15.17

33 dbiFE M NI 3 1:16.40

34 Ak REX Z2F 3 1:29.91

35 Rk ERIE ERE 3 1:37.60

36 B = KHETIE 3 1:38.10
® E®H NEE= 3 DNS
WA K W 3 DQERHE



8. 3FELF500m

JEE K & B (B5) & 6% 2
1 21 Bt A 3 0:52.74 CR
2 HH WE k&l 3 0:53.87
3k E BEHRY77 (HEmER) 3 0:54.72
4 EF £/| 3 0:54.86
5 & S8 AR 3 0:55.67
6 =)l M-Wave(f# ) 3 0:58.85
1TFE K 7k BR 3 0:59.00
8 ik IR AR 3 0:59.15
9 HliR #F NEE— 3 0:59.84
10 A& AI% 7k BR 3 0:59.93
11 HF BFE £/| 3 1:00.06
12 [ES = b4 3 1:00.33
13 &R A [R 3 1:00.71
14 INR BE £/ 3 1:01.21
15 &R XkF b4k 3 1:05.79
16 &ith E}X EHER 3 1:07.16
17HE ¥& E 3 1:07.20
18 Ak $HE AR 3 1:07.64
19 fTER #0tbE 1B 3 1:08.95
20 EF E b4k 3 1:09.57
21 K| #b# = 3 1:10.08
22 1) FHIHE ENI 3 1:10.72
23 lWEH #BF  M-Wave(=F&HD) 3 1:15.38
24 KNIl HHIE & 3 1:16.95
25 B ZEiE KHETIE 3 1:18.09
26 B8 FHEX =) 3 1:18.27
27 BEFZF & R 3 1:18.57
28 ¥AE fB3E KHETHE 3 1:19.40
29 KPq &< BHRE 3 1:21.33
30 /NE EF b 410 3 1:28.71

HWL =4 A4 3 DNS



9. 2 BF300m

JEE K & B (B4)) 24 6% 2
1 Rk B NEE= 2 0:33.41 CR
2 M@ EBEZ= =P 2 0:35.01
3EH EA NEE— 2 0:36.33
4 BE i 2 0:36.39
57 R NEE= 2 0:40.84
6 ER R/ b4k 2 0:40.93
7EHF IGK AL 2 0:41.17
8 EAE Ak F5A 2 0:42.29
9 5K KX 7k BR 2 0:43.07
10 58 A AR 2 0:43.64
11 5% BEX BHRAEER 2 0:44.03
12 248 BE 7k BH 2 0:44.23
13 L WS 7k BR 2 0:45.78
14 FH % 7k BR 2 0:49.06
15 Rk 2 NEE= 2 0:51.38

A BEEH it 2 DNS

10. 25 & F300m

JEE K & B (B4)) 24 6% 2
1 B7ER =45 [R 2 0:37.97
2 BK ME 5 2 0:38.54
ok X =R 2 0:38.69
4 HF DE priilea] 2 0:39.66
5 HR ¥k EH77 (FEER) 2 0:39.99
6 AT EIE ZH 2 0:40.90
7 k¥ EH priilea] 2 0:41.43
8 &H B AR 2 0:41.49
9 BEIO E 7k BR 2 0:42.86
10 Bk FEi R 2 0:43.31
1M1 B8 AT & 2 0:45.67
12 ;5K M-Wave(FFH) 2 0:45.82
13 8HF BAY NEEZ 2 0:45.98
14 £H I 15 2 0:46.06
15 @H F£FEM NEEZ 2 0:46.40
16 & =Kkt Z2F 2 0:47.69
17 [IE BEE 15 2 0:48.26
18 HIItE HF =P 2 0:48.57
198 Wia NN EE— 2 0:52.12
20 XKJI| ER = 2 0:56.17



11. 14 5F300m

I K & B (B5) & 6% 2
1 2% =% HH 1 0:40.18
2 #HH BEA [Fags el 1 0:40.33
3 BBk FHE e 1 0:41.01
4 RE EKXKBEN (kAT 1 0:41.46
5HA &2 [R 1 0:41.74
6 [/ Imts NEE= 1 0:44.81
7R B EA)77(ER) 1 0:45.10
8 Rk K& NEE= 1 0:46.05
9 FNI X iR 1 0:47.68
10 714 #{ik 7k ER 1 0:47.77
11 KH XA 2 1 0:50.19
12T gz FEI 1 0:59.85
137 1EF priile] 1 1:03.54
1418 EF BHIRPER 1 1:05.91
12. 1% F300m
I K & B (B5) & 6% 2
15789 TEx i 1 0:39.15 CR
25H# Y8 prilea] 1 0:39.29 CR
3IhE HE wAL 1 0:42.46
4 BRFZm T £\ 1 0:42.58
5t BE gH 1 0:42.63
6 =M@ ki ERE 1 0:43.95
7 KE FE3 b 1 0:45.51
8 BIR & 2 1 0:45.61
9 BEE B = )| 1 0:45.76
10 R RAE R 1 0:46.56
1M EZE HYS 7k BH 1 0:48.42
12 KiZE HE b 1 0:51.23
130 BAE g 1 1:00.28
14 /NEF #EBR ENI 1 1:03.54
15 410 R EJI 1 1:09.05
B K EI 1 DNS
g 1% Eqeaballad 1 DNS



13. B¥1500m

B K& B (B4)) 24 ik B =
1/ E= NEEZ 6 2:18.89
2 EIR B NEE= 6 2:27.00
3 1Rk FIE M-Wave(T 5k £) 5 2:29.13
415 BER ==B7N 6 2:32.00
51|*J$ %‘%E [R 6 2:32.39

P %4 NEE— 6 2:32.93
7 3 H Eﬁﬁ M-Wave(BZF0) 6 2:33.02
8 /\ith Ex EAY77 (FAEH) 6 2:33.19
9 R Fim b4k 5 2:37.36
10 5H E iR 5 2:39.20
11 2@ 58 BRE 6 2:39.65
12 85k M E 5 2:39.77
13 /hl ERK wAL 5 2:40.66
14 L& B X 5H 6 2:40.88
15 ZHEIR B 6 2:41.05
16 BHH X NEE— 6 2:41.26
17 5K B4% 7k BR 5 2:44.37
18 KPq R BRE 5 2:45.12
19 hiE 1K £H 4 2:46.33
20 A =ik [R 6 2:48.11
21 K&t —# b 4 2:48.17
22 HO MK JNEEZ 6 2:48.18
23 ER B b4k 6 2:48.99
24 %k BE M-Wave(#k4 ) 6 2:49.29
25 K %58 BHIRAEER 6 2:49.45
26 Fgith Kth e el 4 2:49.63
27 ZIR WX =H 4 2:52.05
28 HFH £t NEE— 6 2:56.50
29 $1iE Kih N 6 2:56.68
30 HrH BEAT AR 5 3:00.31
31 =R EE 7k BR 5 3:00.66
32 fEEH 7%tk g el 5 3:01.50
33 KR #t AR 5 3:06.01
34 1k :ﬂ N 6 3:09.68
35 X &8 b4k 4 3:10.30
36 1&/2* N BHRDPE 6 3:11.49
37T NFE B i"#ﬂqﬂnﬂ 6 3:13.48
38 FiE Eth 4 3:17.02
39 #FiE XK IJ\/E 4 3:17.53
40 #EH EEX BHIRPER 6 3:17.70
41 F/K KEh BHIRAEE 4 3:28.97
=% R¥E 7k BR 5 DNS
FEE %NR L&l 4 DNS
g sk @R 4 DNS



14. 5+1000m

JEE K & B (B4)) 24 ik B =

183 HA NEE= 6 1:27.01 NaR,CR,RR
NaR=REF &/
A PERR
CR=X&#iC
RR=/NF A1)V

2 Fith EC [R 5 1:28.33 NaR,CR,RR
NaR=REF &/
AR EERER
CR=AX&#7iC
RR=/NEH V)

3 BEY 1hEH 5H 6 1:30.92 CR

4 #2H BN R 6 1:32.46 CR

5 Rk & NEE= 5 1:34.73

6 ER T e 5 1:34.98

7 Ihith ER o) 5 1:35.51

8 A K =EHY77 (EH) 6 1:37.06

9 EIR b4 5 1:37.49

10 2% B4E BHIRDER 6 1:37.67

11 #[@ £ M 6 1:38.69

12 [ #¥F M 6 1:38.83

13EREZE XF Bt 6 1:39.27

14 ¥I3E EE EF 5 1:39.35

15 fiE iR M-Wave(Z % E) 6 1:39.74

16 /N HEHR zzP]1] 4 1:39.92

17 80 E&£ £H 6 1:40.23

18 Bk Fz2 AL 6 1:41.59

19 &R/ &KE  #ME 6 1:43.01

20 =F# A7 AE(ELTR) 6 1:44.02

21 ZHR & 2F 6 1:44.21

22 KH #t 2 4 1:44.22

23 @O 3E NEEZ 5 1:44.24

24 §iR @KER NI ESE— 5 1:44.32

25 HRk IZAE 7k BH 4 1:44.41

26 ¥R AR =EHY77 (FEIBE) 5 1:45.26

27 21 =th M-Wave(= A #) 4 1:45.40

28 ¥ R i 4 1:46.87

29 RIRT EF 5H 6 1:47.11

30 ARk Eth #iR 5 1:48.14

31 HH MFm priilea] 6 1:48.43

2 5H 8 #H 6 1:48.48

BET 818 fE A AL~ (#8A) 5 1:49.76

34 FJR KA R 5 1:49.96

35 ik fF =P 5 1:50.73

36 Bk K& iR 5 1:51.74

37 #5K #Eth HO 6 1:52.14

38 JIIE K& 5 4 1:53.48

39 &R EBA b4k 5 1:55.58

40 RiZE thiE =91 6 1:55.82

a1 /il w3t BRE 5 1:56.64

42 INER K b 4 1:57.08

43 JB/K KiE 5H 4 2:00.81

44 jthH F0EC M-Wave(¥#k~ ) 5 2:01.16

45 /MR KX £H 4 2:01.22

46 ZIE I3 Nl 4 2:02.06



47 1Rk
48 5K

&
2PN

49 1% BE

50 YR
51 §3
52 F=H
53 &
54 BH
55 XKJI|
56 2%k

57T =H R R4%

58 Bk
59 /NFK
60 ;&K
61 LU
62 P4

w
INFR

—_

222
X
B8

it
o
g

M7
BEX
18

HE
B sl
Ex 1k
BE
25

- PN
BEAD
FTA
A ith

min

7k BA

A9

A

A

7k BA

HH
nMrEsE—
=

A

RE

[R

RE
M-Wave(F+H)
Z2H
BRE
BHIRBER
i1

-5

REF

NEE—
BAaAL—N(EiH)
el
BRFHIRBE

oo pbpphpoggagagabdbpbdbpdbpbooaoapboa

2:02.41
2:02.83
2:03.48
2:04.52
2:04.88
2:05.96
2:07.69
2:11.54
2:12.52
2:12.84
2:24.00
2:26.47
2:27.76
2:28.73
2:36.58
2:51.92

DNS
DNS
DNS
DNS
DNS
DNS
DNS



15. ZF1000m

JEE K & B (B4)) 24 6% 1

18k BEfiE £R 6 1:34.24
2 lLigs £ M-Wave($BERA) 6 1:34.28
3T # a5 6 1:34.77
4 INL RE HAE 6 1:34.92
5 BRFx 1%22 priilea] 6 1:35.69
6 Hb 8#E & 6 1:36.63
1 iR BF 5H 6 1:37.77
8 Ak EE A 6 1:37.79
9 AR =TE APYELR) 5 1:38.09
10 & A& wAL 6 1:39.47
1M1= KR HAE 6 1:39.50
12 E? = EAT 6 1:40.80
13 B8 WE NEE— 6 1:42.56
14 /ML FAB M-Wave(H E) 5 1:42.62
15 R /MK RE 6 1:43.42
16 #iE ZE M-Wave(dy B) 6 1:44.16
17 5+E BAE dtik 5 1:44.24
18lA AN Je 4 1:44.73
19 /h#k HER &R 6 1:45.92
20 5 RiZE g el 6 1:45.99
21 K¥ BF Nl 5 1:46.05
22 A O, EBF 5 1:46.14
23 515 £ M-Wave(3H 3R) 5 1:46.24
24 thit i E 5 1:46.35
25 XiE BHE M-Wave(h E) 4 1:46.63
26 Bk HIRTE 7k BR 5 1:46.94
27 hE WS NEE— 5 1:48.18
28 BiR IIxF #H 4 1:48.43
29 5 FIF b4k 5 1:48.46
30 #k Kid £H 5 1:48.56
31 ¥ EFF EHY757 (FAER) 6 1:48.76
32 IhE Eh wAL 4 1:48.78
33 EHAE #HthE FHE 6 1:49.21
34 #iK XALTE 7k BR 5 1:49.26
35 TH BE A4 6 1:49.50
36 5H B#H AR 5 1:49.65
37 {Ef ER B8 AL - (&) 5 1:50.18
38 L1g B #H 4 1:51.03
39 [HHE FK =1 4 1:51.55
40 LR tiE AR 4 1:51.96
M RE BE FE S AL~ (#%8A) 5 1:52.35
42 Xit B H BHIRAEER 5 1:52.44
43t ZDH  BEHRGE 5 1:52.73
44 =E B KHETHE 4 1:53.10
45 BiE W|E =) 5 1:53.58
46 *H ER TiREAm 6 1:53.79
47 it BE R 5 1:53.92

8 ER FYA 2F 4 1:54.03
49 X = EAT 4 1:54.36
50 &R IEW b4 4 1:54.45
51 B0 & P 5 1:54.73
52 b ZEE  EAH 5 1:55.02
53 BEIR EXE M-Wave(Z % B) 6 1:55.09
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